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T F 0 A& [OCBIE] ARiE 7 5 5 5 5 1.0
> hU—AE [0CE&MAE] BEE 4 4 4 4 4 1.0
T2 hU—AS [GREEHT] AR 4 0 0 0 0
T2 hU—AS [GREESHT] BAR 4 0 0 0 0
AO [F&ERGEE] 4 5 5 1 1 5.0
AO (I ) [mEEERE] 10 7 7 6 6 1.2
AO (Il [mEEERE] 6 4 4 4 4 1.0
AO CliER) [mEEERE] 2 4 3 3 2 1.0
= 7'A— NIV 2 0 0 0 0
ABHES G RIRAR - BERARERE) 56 117 117 117 100 1.0
B\ NBHHE (B8 16 2 1 1 0 1.0
B |ERERAR (51 3 0 0 0 0
w [BRERAAR BH) 3 0 0 0 0
= BEESABAR (L] (FTH) 4 1 1 1 1 1.0
C|BRESFAAR [TLEVE] () 4 0 0 0 0
= GgoER) 24 23 23 19 7 1.2
— % (hHR) 6 4 2 2 0 1.0
—M (1&H8) 4 15 11 10 4 1.1
REFAZHBT X MFE (B1ER) 4 7 7 2 0 35
REFAZHBT X MFE (FE) 4 1 1 0 0
REFAZHBT X MFE (E) 2 6 6 2 0 3.0
AEANBZE CBAAR - BERAHESD) 10 99 96 43 35 2.2
HEA EF4 0 0 0 0
i S
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T2 hU—AS [GREESHT] BAR 2 0 0 0 0
AO [H&EREER] 4 16 16 8 8 2.0
g [AC (18D [EEERD) 8 14 14 13 8 1.1
AO CIIHE) [mEEERE] 4 7 7 7 7 1.0
X Ta0 () [EEEHE] 2 2 2 2 2 10
£ |7 o—/ s 4 3 3 3 3 1.0
v |assigE G GIIRAR - BERARESD) 32 41 40 40 36 1.0
o [DEHHER (#:48) 10 2 2 2 1 1.0
. | BEERAR (51HD) 2 0 0 0 0
*[BREAAR (&) 2 0 0 0
A BEKESMAAR (L8] (518 2 0 0 0 0
ERGESFBASR [FLEVE] (1) 2 0 0 0 0
P —% (BIHR) 20 18 17 17 3 1.0
L | () 4 1 0 0 0
o ) 4 7 4 4 1 10
F|RPEAZLBT X NHIB (GIED) 2 9 9 5 0 1.8
B [ KFAZEBT 2 FFA (FH) 2 6 6 2 0 3.0
REFAZHBT X MFE (E) 2 8 8 6 1 1.3
AEANBZE CBAAR - BERAHESD) 6 56 54 41 37 1.3
HEA EF4 0 0 0 0
SRAS 120 198 190 158 113
SERAE 300 502 483 378 282
I>RU—AF [OCEME] AR 3 3 3 3 3 1.0
> hU—AE [0CEMA] BEE 3 2 2 2 2 1.0
T2 hU—AS [GREESHT] ARR 3 0 0 0 0
T2 hU—AS [GREESHT] BAR 3 0 0 0 0
AO [F&EREE] 3 7 7 2 2 35
Y AO (1) [RE&v&— K] 10 5 5 5 3 1.0
N AO (IH) [RFE—Y vx—Yv—H] 5 5 4 4 1.3
v |AO (I [ &—FHE] 6 1 1 1 1 1.0
g | = AO () [RFE—Y .  vx—Yv—H] 2 2 2 2 1.0
AO CliER) [mEEERE] 3 0 0 0 0
T B | AmsiER GIE)  (RIBAR - BERZEARED) 18 48 48 48 36 1.0
I sk [AESIHE (&) 6 1 1 1 1.0
o | ow [BREBHNAAS [(FLE B] (3H) 2 0 0 0 0
= ERGESFBASR [FLEVE] () 2 0 0 0 0
—% (37H9) 10 22 22 16 6 1.4
b — % (hHR) 2 4 1 1 1 1.0
=4 —M (1&H8) 2 2 2 2 1 1.0
= REFAZHBT X MFE (B1ER) 2 5 5 2 0 2.5
REFAZHBT X MFE (FE) 1 4 4 3 0 1.3
REFAZHBT X MFE (E) 1 5 5 2 0 2.5
NEABFE ET4 0 0 0 0
HEA EF4 1 1 1 1 1.0
SERAET 80 117 114 95 62




